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Section lii Mathematics

1. Find the least number which divided by

121836 and 45 leaves 814,32 and 41 as


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_22LEDHhNrvzc

remainder respectively.

A. 176

B. 180

C.178

D. 186

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_22LEDHhNrvzc

2.P can do a work in 9 days and Q is 50% more
efficient than P. In how many days can Q do it
alone ?
A 13—
B.4=
2
C.6

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4jZDk0mhejww

3.In the making of a right circular cone whose
base radius is 7 cm and altitude is 24 cm. How

many area of iron sheet is required ? (Take
22

T
A. 7T08cm’
B. 804cm?

C. 704cm?

D. 408cm/>

Answer: C

I O Watch Video Solution


https://dl.doubtnut.com/l/_XcueusBfZVaw

4. A reactangular tin sheet is 12 cm long and 5
cm wide. It is rolled such that the ends are
joined together to form a cylinder, then what

will be the volume of cylinder ?

180
A.——cm
T

120
B. —cm
s

100 3
C.—cm
7L

60 .
D.—cm
T


https://dl.doubtnut.com/l/_XcueusBfZVaw
https://dl.doubtnut.com/l/_YTIJ64uJ5J1r

Answer: A

o Watch Video Solution

5. A shopkeeper announces a discount of 10%
on item purchased form his shop . If a
customer purchased a cooker worth Rs 650, a
heater worth Rs 500 and a bag worth Rs 65,

then how much discount will he get ?

A.Rs 120.50

B. Rs 123.50


https://dl.doubtnut.com/l/_YTIJ64uJ5J1r
https://dl.doubtnut.com/l/_rAjeVYHqqEMk

C. Rs 128.50

D. Rs 121.50

Answer: D

o Watch Video Solution

6. The sum of ages of two brothers will be
doubled after 10 yr, if the difference between
their ages is 8 yr. Then, what is the ratio of age

of younger brother to age of order brother ?


https://dl.doubtnut.com/l/_rAjeVYHqqEMk
https://dl.doubtnut.com/l/_Alwtzl6ObcIG

A T7:11

B.3:7

C.8:9

D.10:13

Answer: B

o Watch Video Solution

7. Out of 30 teachers of a school, a teacher of
age 60 years retired. In his place another

teacher of age 30 years was appointed. As a


https://dl.doubtnut.com/l/_Alwtzl6ObcIG
https://dl.doubtnut.com/l/_I8p32YjLSyHx

result, the mean age of the teachers will.
Uh el o 30 el H I 60 99 P 31 &I Ub
fleres AT &1 9111 3P WM W 30 99 Hl 311y

& Ueb 31 fAleres ol ek foparm M| aRomawy,
forerepl &bt H1ed 311y

A. Reduced by 6 months

B. Reduced by 1yr

C.Same as

D. Reduced by 2 yr

Answer: B

| 8


https://dl.doubtnut.com/l/_I8p32YjLSyHx

8. 134 km apart from Geeta a bullet is fired
from a gun. She heard the sound after 4 s.
Then what is the velocity of sound ?

A.335m/s

B.330 m/s

C.300 m/s

D.325 m/s

Answer: A



https://dl.doubtnut.com/l/_I8p32YjLSyHx
https://dl.doubtnut.com/l/_YWWTy2oewbLw

I O Watch Video Solution

9. The compound interest for a fixed, period of

time on Rs 1800 at the rate of 10% per annum

is Rs 378. Then, find the time (in years).

A. 2.8

B.3.0

C.2.5

D. 2.0

Answer: D


https://dl.doubtnut.com/l/_YWWTy2oewbLw
https://dl.doubtnut.com/l/_AyLHMvk5WI1r

° Watch Video Solution

ny 2
10. Value of { ({1/52) ? } is

AT

B. 2"/ 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AyLHMvk5WI1r
https://dl.doubtnut.com/l/_oDPSbsLuKh47

1. 1f (v/3)” x 81 = 3" x 34/3 then the value
of nis

A4

B.5

C.6

D.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oDPSbsLuKh47
https://dl.doubtnut.com/l/_zKsHVxWdjL5o

1
12. If z* + — = 119, then the value of

T
1

3 — —is:
23

A.36
B. —36
C. 36

D. £33

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_v4zd696G1UY5
https://dl.doubtnut.com/l/_b6payfMxt9xa

13. If

999z + 888y = 1332 and 888z + 999y = 555,

2

then z? — y? is equal to:

A5
B.7
C.8

D.9

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_b6payfMxt9xa
https://dl.doubtnut.com/l/_Feyz1Knx9RdC

14.iIn AABC and AMNP ,if AB=2.25 cm, MP

=45cmand PN=75cm, ZACB=/AMNP and

ZABC = ZMPN, then what is the length (in

cm) of side BC?

A.3.75

B.4.75

C.3.5

D.4.5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Feyz1Knx9RdC

15. Given an equilateral triangle ABC, D, E and F

are the mid-points of the sides AB, BC and AC

respectively, then the quadrilateral BEFD is

exactly a

A. square

B. rectangle

C. trapezium

D.rhombus

Answer: D


https://dl.doubtnut.com/l/_Feyz1Knx9RdC
https://dl.doubtnut.com/l/_ayJgWeceVNEq

° Watch Video Solution

16. AC is a chord of that circle whose center is
'O'. If B is any point on arc AC and

Z0CA = 20°, then what is the

measurement of ZABC'?

A.100°

B.40°

C.140°

D.110°


https://dl.doubtnut.com/l/_ayJgWeceVNEq
https://dl.doubtnut.com/l/_82K1fSadx9HN

Answer: D

o View Text Solution

17. The vertices of a right angled triangle right
angle at P are P (3,4) , Q(7,4) and R (3,8). Then,
what is the coordinates of orthocentre of

APQR?

A (3, 4)


https://dl.doubtnut.com/l/_82K1fSadx9HN
https://dl.doubtnut.com/l/_4COL8qlgN0cM

D. (5, 6)

Answer: A

o View Text Solution

18. When 6 = 45° then what is the value of

(secB + cosech) ?

A.34/2
B. 4,/2
C.2¢/2


https://dl.doubtnut.com/l/_4COL8qlgN0cM
https://dl.doubtnut.com/l/_lg2aa8iDAoM8

D. 54/2

Answer: C

o Watch Video Solution

19.5in% 60 + cos® 9 = ?

A.1 — 3sin®0cos? 6

B.1 — 3sinfcosf

C.1 -+ 3sin®6Ocos’0

D. 1


https://dl.doubtnut.com/l/_lg2aa8iDAoM8
https://dl.doubtnut.com/l/_obTjSvxI0OYH

Answer: A

o Watch Video Solution

20. Expression 1 + cot” 4 is equal to
1 4+ cosecA
A.sin A
B.cos A
C.tan A
D. cosec A

Answer: D


https://dl.doubtnut.com/l/_obTjSvxI0OYH
https://dl.doubtnut.com/l/_h5cgFhw1sJjn

° View Text Solution

21. The shadow of a tower standing on a level
plane is found to be 50 m longer when the
Sun's elevation is 30° than when it is 60°

What is the height of the tower ?
A.10 m
B.10,/3m

C.20m

D. 20,/3m


https://dl.doubtnut.com/l/_h5cgFhw1sJjn
https://dl.doubtnut.com/l/_yAMIcE74jF3t

Answer: D

o Watch Video Solution

22. Which of the following is shown a

graphical representation of cumulative

frequency data ?

A. Histogram

B. Frequency polygon

C. Cumulative (ogive)

D. Pie-chart


https://dl.doubtnut.com/l/_yAMIcE74jF3t
https://dl.doubtnut.com/l/_CkBlP2LtJXAc

Answer: C

o View Text Solution

23. The altitudes of two similar right angled

ALMN and AOPQ are 48 cm and 36 cm,
respectively. If OP = 12cm, then LM will be
A.16 cm
B.20 cm

C.12 cm

104/6
D. \/_

cm


https://dl.doubtnut.com/l/_CkBlP2LtJXAc
https://dl.doubtnut.com/l/_Hjph6j4avKjX

Answer: A

o View Text Solution

24. Factor of 822 — 18z + 9'is

A. (4z — 3)(2z + 3)

B.(8¢ — 1)(z — 9)

C.(8z — 3)(z — 3)

D. (2z — 3)(4x — 3)

Answer: A


https://dl.doubtnut.com/l/_Hjph6j4avKjX
https://dl.doubtnut.com/l/_8t4svZ8DvnVl

° View Text Solution

25. The equation 2 — 19z + 10 = 0 has two

roots. Then, what is the sum of roots ?

C.19

D. —19

Answer: C

| 8 l


https://dl.doubtnut.com/l/_8t4svZ8DvnVl
https://dl.doubtnut.com/l/_O0TeFirTgeUp

26. If one root of the equation

% — 6kx + 5 = Ois 5. Then, value of k is

A.2

B.1

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_O0TeFirTgeUp
https://dl.doubtnut.com/l/_vE29CTPFxaey

27. If a® = W = ¢ and b? = ac, then show

2zx

that y = o

LY
T+ z
LY
2(x — 2)
Tz
2(z — x)
2x 2
T+ z

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vE29CTPFxaey
https://dl.doubtnut.com/l/_HXSIZZM6MUQd

28. If (x +3) is one factor of z° + kx + 12,
then the value of k will be

A. 8

B.7

C.6

D.5

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_xTd0fx3n4Ana

